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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)
ta.replace (TCT, TDT);
ta = ta.concat (th)
System.out.println (ta) ;

}

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the following classes:

public class Emplovee |
public int salary;

public class Manager extends Employee {
public int budget:;

public class Director exXtends Manager {
public int stockOptions;
}

And given the following main method:

public static voilid main(sStringl[] args) |
Employee employvee = new Employee ()

Manager manager = new Manager();
Director director = new Director():;
//line nl

}

Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50 _000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget = 1_000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 3
Given the code fragments:
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Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

public String getName () |
return name;

public int getAge () {
return age;

Test.java:

public static void checkAge (List<Person> list, Predicate<Person> predicate) |
for (Person p : list) {
if (predicate.test(p)) f{
System.out.println(p.name + " ");

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Perzon("Charlie", 40),

new Person("Smith", 38));
/fline nl

}

Which code fragment, when inserted at line n1, enables the code to print Hank?
A

checkage (ilList, ( ) -> p. get Age ( ) > 40);

checkfAge (1List, Person p -> p.getge( ) > 40);

checkAge (ilist, p -> p.getRhRge ( ) > 40);

checkage (iList, (Person p) -> { p.getARge() > 40; 1}):

&

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 4
Given the code fragment:

public static wvoid main (String[] args) {

String[] arr = (“Hi"”, “How"”, “are”, “You");

List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removeIf((String =) -> (return s.length(}) <= 2;})) {
System.cut.printlni=z + “removed™)”’
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What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 5
Given:
public cla=ss Test |
public static vwoid main(String[] args) {
int = = 1;
int y = 0;
1f (x++ = ++vy) |
System.out.print (“Hello “);
} else |
System.ocut.print (“Welcoms *);

}

System.out.print ("Log ™ + x + “:" + y);

}

What is the result?

A. Hello Log 1:0
B. Hello Log 2:1
C. Welcome Log 2:1
D. Welcome Log 1:0

Answer: C

NEW QUESTION 6
Given:
public class Test {

public static void main(Stringl[]
Test ts = new Test():;

System.out.print (i1sAvailable +

isAvailable= ts.doStuff():;

args) {

"

System.out.println(isAvailable);

}

public static boolean doStuff ()
return !isAvailable;

}

-

static boolean isAvailable = tru

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: C

Explanation:
# : x

Console 15
true false

Completed with exit code: 0

NEW QUESTION 7
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.
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Answer: D

NEW QUESTION 8

Given:
class A |
public void test () {
System.out.println (“A"):
}
3
class B extends A |
public void test ()
System.out.println (“B”):

public class C extends A (
public void test () ({

System.out.println (“C"):

S

public static void main (String [] args) {
A bl = new A ():
Ab2 =new C ();
bl = (A) bi: //1line nl
A b3 = (B) bZ; f/1line n?2
bl.test {}:
bl.test ()

1
| ]
’

What is the result?

A. AB
B. AC
C.CccC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 9
Given the code from the Greeting.Java file:

public class Greeting |
public static vold main(Stringl[] args) |
System.out.println("Helle " + args[0]);

H
Which set of commands prints Hello Duke in the console?
 A) javac Greeting
java Greeting Duke

¢ B) javac Greeting.jawva Duke
Java Greeting

¢ ) javac Greeting. java
java Greeting Duke

D) javac Greeting. java
java Greeting.claszs Duke

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 10
Given these two classes:
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public class Customer |

Electriciccount oct =inew BElectricicconnti):;

public void useElectricity (double kWh) {

acct . addEWh (kWh) ;
'
1

public class ElectrichAccount |
private doubkle kWh;
private doubkle rate = 0.07;
private double bill;

Fd1line nl
}

Any amount of electricity used by a customer (represented by an instance of the Customer class) must contribute to the customer's bill (represented by the

member variable bill) through the useElectricity method.

An instance of the Customer class should never be able to tamper with or decrease the value of the member variable bill.

How should you write methods in the ElectricAccount class at line n1 so that the member variable bill is always equal to the value of the member variable kwh

multiplied by the member variable rate?

A
public volid addEWhi(doubkle kWh) |
this.kWh += kWh;
this.bkill = this.kWh*this.rate;
H
B
public volid addEWhi(doubkle kWh) |
if (kWwh > 0)¢
thisz. kih += kith;
thi=.kill = thig.kWh * this.rate;
i
H
C
private volid addEWh (double kWh) |
if (kWh > 03 ¢
this=. kWh += kih;
thiz.kill = thiz.kWh*this. rate;
1
i
1]
public veoid addEWh{double kWh) |
if (kWwh > 07
thiz.kWh += kWh;
setBi1ll (this. kWh) ;
1
i
public void setBill (doubkle kiWh) |
Eill = kWh*rate;
i
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 10
This grid shows the state of a 2D array:

0 o

X

The grid is created with this code:
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char[][] grid = new char[3][3];
grid[1][1] = X’
grid[C] [0] = OF
grid[Z] [0] = *¥'
grid[0][1] = *OF
grid[2] [Z] = X'
grid[1] [2] = O
{f/line ni

-
r
r
-
r
-
r
r
-
r

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = ‘X";
B. grid[3][2] = 'X’;
C. grid[3][1] = ' X’;
D. grid[2][3] = *X’;

Answer: D

NEW QUESTION 15
Given:

public class Fieldinit {

char c:

boolean b:

float £:

void printAll () {
System.out.println (“c = % + ¢)
System.out.println (b = " + b)
System.out:println (“f = ™ + I)

}

public static void main (String []
FieldInit f = new FieldInit ():
f.printAll ():

}

}
What is the result?
A

C:
b = false
£f = 0.0
B
c= null
B = true
£f =0.0
C
=0
B = false
£f = 2.0f
D
c= null
B = falze
£f = 2.0F
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A
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NEW QUESTION 16
Given:

public class Test {
public static void main(String[] args) {
boolean a = new Boolean (Booclean.valueOf (args([0])):
boolean b = new Boolean{args[l]]}:

System.out.println(a + + b):;

And given the commands:
javac Test.java
java Test 1 null

What is the result?

A. 1 null

B. true false

C. false false

D. true true

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 19

Given the code fragment:

public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |

/4 line nl

}
piblic: Strihg-toSteing (¥

return name + ":" + contract +

+ =alary:

1

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC
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NEW QUESTION 20
Given:
interface Readable |
public void readBook ()
public void zetBookMark () :
h

abztract clasz Book implements Readable |
public veoid readBook () { 1}
Ff ddine 0P

'

claz=z EBook extends=s Bool |
public veoid readBook () { 1}
f4 line nd

h

And given the code fragment: Book bookl = new EBook(); book1.readBook();

Which option enables the code to compile?

~ A) Replace the code fragment at 1ine nl with:
class Book implements Readable |

 B) At 1ine n2 insert:
public abstract void setBookMark();

) Replace the code fragment at line n3 with:
akbsztract «lass EBook extends Bool |

™ DY At 1ine n4 insert:
public wvoid sgetBookMark() {

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 22
Given:

class Product {
double price;

public class Test {

public void updatePrice (Product product,

price = price * 2;

product.price = product.price + price;

'
public static wvoilid main(Stringl[]

Product prt = new Product ()} ;
prt.price = 200;
double newPrice = 100;

Test £t = new Test ()
t.updatePrice (prt, newPrice);

System.out.println (prt.price +

H

What is the result?
A. 200.0: 100.0

B. 400.0 : 200.0

C. 400.0: 100.0

D. Compilation fails.
Answer: C

NEW QUESTION 25
Given the code fragment:
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LocalDateTime dt = LocalDateTime.of (2014, 7, 31, 1, 1);
dt.plusDays (30} ;

dt.plusMonths (1) ;

System.out.println(dt.format (DateTimeFormatter.IS0O DATE TIME});

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 30

Given:
class &
public wvoid test () {
System.out.println(™A "):;
}
}

class B extends &
public wvoid test() {
System.out.println{"B "}

}

public class C extends A {
public void test () {
System.out.println{("Cc "):
}

public static wvoid main(Stringl[] args) {
A bl = new Af):
A b2 = new C{):
A b3 = (B) b2; //line nl
bl = (&) bz; //line n2
bl.test(};
bi.testf);

}

What is the result?

A. AB
B. AC
C.CccC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 32
Given the code fragment:

abstract class Toy {
int price;
4 line nl

h

Which three code fragments are valid at line n1?
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A
public static void insertTov ()
/* code goes here */
}
B
final Toy getToy() {
return new Toy():
}
C
public void printTov();
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount():;
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 35
Which statement is true about Java byte code?

A. It can run on any platform.

B. It can run on any platform only if it was compiled for that platform.

C. It can run on any platform that has the Java Runtime Environment.

D. It can run on any platform that has a Java compiler.

E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Answer: D

Explanation:

Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes on any platform that has a Java compiler. The
bytecodes can then be run on any implementation of the Java VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

NEW QUESTION 40
Given the code fragment:

abstract clas=s Planet |
protected void revolwe () filine nl

}

ab=ztract wvold rotate () ; Jiline nZ

clazss Earth extends Planet |
vold revolwve () Jiline n3

}

protected void rotate () | Jiline nd

}
;

Which two modifications, made independently, enable the code to compile? (Choose two.)
A. Make the method at line n1 public.

B. Make the method at line n2 public.
C. Make the method at line n3 public.
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D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 43
Given this class:
public class CheckingBAccount {

public int amount;
//line nl
}

And given this main method, located in another class:

public static wvoid main(String[] args) {
CheckingAccount acct = new CheckingRAccount () ;
//1line n2

}

Which three pieces of code, when inserted independently, set the value of amount to 1007
A

At 1ine nl insert:
public CheckingAccount () {
amount = 100;

B
AL 1line n2Z insert:
this.amount = 100;
L
At 1ine nZ insert:
amount = 100;
1]
AL 1ine nl insert:
public CheckinglAccount ()} {
this.amount = 100;
'
E
AL 1line n2 insert:
acct.amount = 100;
F
At 1ine nl insert:
public Checkingaccount () {
acct.amount = 100;
}
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 44
Given:
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Base.java:

class Base |

public void test () {
System.out.println("Base ");

DerivedA.java:

class Derivedl extends Base |
public void test(){
System.out.println("Deriveda ");

}
DerivedB.java:

class DerivedB

extends Derivedi |
public void test(){
System.out.println("DerivedB ") ;

}

public static
Base bl
Bass b2
Base b3
Baszs b4

void main (String[] args) {
new DerivedB () ;
new Deriveda () ;
new DerivedB () ;

=S i

bl = (Base)}) b2;

Bl stest )
b4 .test ()

H

What is the result?

A. BaseDerivedA
B. BaseDerivedB
C. DerivedBDerivedB
D. DerivedBDerivedA

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 49
Given the code fragment:

7. 8tringBuilder sbl = new StringBuilder {"Duke") ;

8. ‘8trihng strl

sbhl.toB8tring () ;

9. // insert code here
10. Svstem.out.print (strl == str2);

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = strl;

B. String str2 = new String(strl);

C. String str2 = sh1. toString();

D. String str2 = "Duke";

Answer: A

NEW QUESTION 50
Given:
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class Test {
int al:;

public static void doProduct (int a) {

a = a * a;

public static void doString(String s)

s.concat ("

public static void main(String[] args)

Test 1tem =

+ 8):;

new Test():

item.al = 11;

String sb
Integer 1 =

IlHellD";
10;

doProduct (1) ;
doString(sb) ;
doProduct (item.al) ;

System.out.println(i +

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 55
Given the code fragment:

T L]

public static void main(String[] args) {
String myStr = "Hello World ";

myStr.trim(} s

int il = myStr.indexOof ("™ ");
System.out.println{il);

}
What is the result?
A. An exception is thrown at runtime.
B.-1
C.5
D. 10

Answer: A

NEW QUESTION 60
Given the code fragment:

int wd = 0;

String days[] = ("sun”, "mon", “wed”, “=sat"):

for (String s:davs) |
gwitch (s) {
case “=sat":
case “=sun”:
wd -= 1l:
break;
case “mon’
wid++;
case “wed":
wd += 2;

}
System. ocut. println{wd)

What is the result?
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|_‘-l>00

A.
B.
C.-
D.

9]

ompilation fails.

Answer: A

NEW QUESTION 64

Given the code fragment:

public static wold main(Stringl[] args) |
StringBuilder =k = new StringBuilder ("Java™);
String = = "Java" ;

if (=zb.toString() .equals(s.toString()))
System.out.println("Match 17);
poelze 1f (gb.equalsi(=s)) |
System.out.println("Match 27) ;
Voelze
System.out.println("Noe Match™) ;

}

What is the result?

A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.

Answer: A

NEW QUESTION 67
Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function
B. Provides a set of standard exceptions that covers all possible errors

C. Improves the program structure because the programmer can choose where to handle exceptions

D. Improves the program structure because exceptions must be handled in the method in which they occurred

E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 68
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 72
Given:

class Caller |
private wvoid init () {
System.out.println (™Initialized”);

private wvoid start () {

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(Stringl[] args) {
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}
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What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 76
Given this segment of code:

ArrayList<Cycle> myList = new ArravList<>():
myList.add(new MotorCycle()}:

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 78
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.

B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 79
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 82
Which statement will empty the contents of a StringBuilder variable named sb?

A.s
B. deleteAll ();
C.s

D. delete (0, s
E.size ());
F.s

G. delete (0, s
H. length () );
I.s

J. removeAll ();

Answer: C

NEW QUESTION 85
Given the code fragment:

int numsl[] = {1, 2, 3};

int numsZ[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : nums2){
Svstem.out.print {x + ":");

}

What is the result?

A. 1:2:3:4:5:

B. 1:2:3:

C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.
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Answer: A

NEW QUESTION 90
Which three statements are true about the structure of a Java class? (Choose three.)

A. A public class must have a main method.

B. A class can have only one private constructors.

C. A method can have the same name as a field.

D. A class can have overloaded static methods.

E. The methods are mandatory components of a class.
F. The fields need not be initialized before use.

Answer: ACE

NEW QUESTION 92
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